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Carefully read the instructions given on Question Paper, OMR Sheet
and Answer Sheet.
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Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)

SH AlSYAAT & & HET §| AT vF F IR geT 3N Hwr & F
aier geaT Bl

There are TWO PARTS in this Module/Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.

HIT T “Johfoush” GehY 1 & forash el 3ich 40 § dum #mr al,
“eIFIRF" JFR & 3R gHF Tl 3 60 B

PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.

Wl TF & 3%, $6 T-OF F WY & TS MUANN FR-GRAH
W, 3% Ry 7w et & IgER & I I= ¥ oswer & &
SRR A 71T TF & I A ol S =i

PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.

HT T & OIT 3fede gEw der v uver @eiRa & g B
oer @ 7 II-gRAE, 6 UF A Saqiede S e &
weaTd & el qnfy, e e g § g o v g e
arer gl T v A 3eR-qfEae Bl @ v & qid ¥,
T & H SRR & Tl 8

Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE.

qiamedl, sufufdaler W gwaer v @ET swar e
s-qRRa®, Aleas F @Y fen, e g | el Fwar g
W A F W), Wt # 3w AlggEAw & e oiftg W
e s

Candidate cannot leave the examination halllroom without
signing on the attendance sheet or handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module/Paper.
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.
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Note: In case of any discrepancy found in Hindi language, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




PART ONE / |l Ud

(Answer all the questions) / (W4l T%H & IR <)

URA® Y & SR & g fdbed 1 3y M0 F |
Ug FI SUYE fdbed g SR S [feriaa
frcel @ TS UA & W1 SYeel dIY Y
"IN IR W55 H <of BN |

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”

answer sheet supplied with the question
paper, following instructions therein. (1x10)

1.1 TS IS hegeX Ugel 3ifeT AT REE foham Srewm &,

Th fad¥ YER A IsEeIE ol o
&I STl 8, Uierstare o S1rerT &

A) FHFIIS U I AlsT

B) ¢ oisT

C)  feEUAR

D) Reiféar asx
When a computer is first turned on or
restarted, a special type of absolute loader
called is executed

A) Compile and Go loader

B) Boot loader

C) Bootstrap loader

D) Relating loader

12 TR H EF WA & fov o fafld & & 3aa
AFAAE 2

A) Fdisk

B) Scandisk

C) CHKDSK

D) Fixdisk
Which among the following are the best tools
for fixing the errors?

A) Fdisk

B) Scandisk

C) CHKDSK

D) Fixdisk

1.3 Pl TT HHATS Teh SeTAT HHATS 1T 87

A) Dir

B) Edit

C) CD

D) CLS
Which command is not an internal command?

A) Dir

B) Edit

C) CD

D) CLS
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el °Y HATE DOS # [aeIH I 181 gIcin?
Sum

CLS

CD

Dir

Which command does not exist in DOS?
Sum

CLS

CD

Dir

[SERIECICE: ATy
MKD

MKDIR

CD

IWIeFd H T Tl

To make directory
MKD

MKDIR

CD

All of the above

¢ eI gishar

TAEEH Bl P RAM F ol HIAT &
YT ShoteheleT hT il Ll &
TG HHANT o Follel LT &
HY T AN LT §

Boot startup process

Loads system files to RAM

Checks the computer connections

Clean up the computer memory
Prepare the computer ready

9 U YA g S & AT waer foRar
ST &

SRR N HY ot T

fo¥er T e 1 st &el

FISel HIFIH et

3WIeFd H § G

A zip is a program used to

Speed up the computer memory

Speed up the disk access

Compress files
All of above

M4.3-R4-01-17



1.8  foorw Rdicw it & 3k
A) R
B) TaEER
C) Rarees
D) RfsemeT ford gu
Bridges are also repeaters and
A) Regenerator
B) Preprocessor
C) Reposted
D) Redesigned
1.9  dRIAH dgd Acad
A) TFIH UIST &l TR T8l &
B) THIH Uige 3@y aifgu
C) ANGH &I TIRTRAT A &
D) 3RS H T PIS =Tgl
In wireless ad-hoc network
A) access point is not required
B) access point is must
C) nodes are not required
D) none of the mentioned
1.10 sicaw ¢ftheh FI ey atel & foT yaer fomam
SATeT aTell 3TeoT
A) TaEER
B) HIRATel
C) IECERTIC
D) IO
A device used for filtering network traffic.
A) Preprocessor
B) Firewall
C) Flip Flop
D) Decoder
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21

2.2

2.3

24
25

2.6

2.7

2.8

29

2.10

21
2.2
2.3
24
25
2.6
2.7

2.8

29

2.10

T ey U YRS faaReT a1 @ I AT IR R |
Ug FI SUYAT fdbed g SR S Freferi
[Cel & STIR USF UF & W1 SUcel HY Y
“ITTHRIR TR 55 § Tof B | (1x10)
HEYRN FISd F TR T STl aTell F=AT ST H=T
ol &Y I T Thell ¢

LAN @l 302191 Ueh fafeser & W@ segert &
SiIgsT & forw fohar SiTar &.

A 3R ITRFT BT Pl DIFUH HLA o TolT
T FHEUTeT T 3TN fomaT ST &

AT T35k FHFURT FI 3G &.

#er$ 18 wigcll 1 Rarghollesr & g=1: amad
AT ST HehT §.

318d deldc 38d Bl FAT-64 TSd [aEcH H
el &.

U AT 3Mahr ey A1 fAvgaEq H
AT 3R WX & foT Thet AT g,

IRQ A=A &l YIATHIT ot el o ToIT IYHYOT
@l TP Sl HART @ WY wrgfaehe et H
Heg AT g,

oot fthToieneT Ta 3T foldh oRIX, il ol U &
FL R §.

ZYoT 819 T d: 3cUool glel aTell I WA §
ST Tad 31da g

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and enter your choice in the “OMR” answer

sheet supplied with the question paper,
following instructions therein. (1x10)

Compression may be able to double the
amount of information the drive can store.

LAN is used to connect computers placed
within a building.

Lossless compression is used to compressing
image and graphics file.

Winzip is the example of disk compression.
Deleted files can be restored from recycle bin.
Drive converter converts drive into FAT-64 file
system.

Registry checker scans the contents of your
Registry for problems and errors.

An IRQ helps a device to communicate directly
with computer's memory to speed up the
processing of information.

Bridge can operate on both layers, physical
and data link layer.

Trojan Horse is self propagating virus program
which has independent existence.
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3, Hiem X # fav 1 vt &R ari &1 e ofem Y # QU U fdean waftrd arf / ol / aiwi § |
I AU Y SRl B el B U AU fdod U UF @ AR QU Y SHICHIRT IR UAD A qol
@ 1(1X10)

X
31 |arus sEdideic ysaHT

32 |UDP Y&cH

33 ﬁ@%gﬁrm?mﬁwﬁ%mm

34 |39 T & gEARR / Ui TIged dar &Y.

35 |3 3l "I

36 |3cT 3R ST WSeH Pl HIFIH el FHI FTRIOT PKZIP

37 |JPEG & fow sedert 3% fedpareiex

38 |ad o 3cUeT 21 & TolU QIEe I 3aeendr o181 gl PELEIHDIC

39 |3dT W TIEH garT AT fhdl dlfoteh @Rt de fohdT 14T arRy A - 3RUes

S|~ T @ Mmoo W >

310 |TCP TR & g8 feliadl yer

&

CIERE:)

L. | areE seaesd & fau
T 3reanies

M. (—,ﬁgﬁm

4 %ﬁqwq@mwﬁ%é’rﬂéwﬁﬁwmmmaﬁ@wﬁ@mﬁwmlH'GR#
IR faded T &R I FrfaiRad oredl @ SFfaR W U3 & FRF U Y “3UHaIR” IR

TAG H AT fadmed ot By | (1x10)
A | e B. | Rareser C. |16
D. |32 E. | b e F. | a3t
G. | zgue H. | voaieperst I. | MAC
J. | aree K | ocs L |=;1
M. | Sead T
41  TCP/IP T TRl ST T 3HP e TAT quarﬁa?mﬁlmm%.
42  TCPU& uRags dicteld ¢.
43 &g @ USH Ueh 37T g1 ¢ 31X 32T foldh ol IR e fomar Srar €.
4.4 CD s faT At §.

45 397 S aTo YAk @US & fIT TCP Uah e . 3Mafed ol &. Ucdeh TS & [olU vl &A1 39 WS & of oI
ST arelr SSe e .

46 Zeeic W ¢ fthen fASeTT T &l X &,

4.7 UDP 3ilX TCP ai=t R YieTahiel &

4.8 T TART 3k TF 1 ST & v fomam Srar 2.

4.9 TCP/IP & T 9IE T3d [ERKGEIRGIES

410 DLL UFHEs & 37T § IGERCIEEEL
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Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,

following instructions therein. (1x10)
X Y
3.1 Wired Equivalent Privacy A. Bomb
3.2 UDP Packets B. Worm
3.3 Utility to remove scattered free space C. Anti-Virus
34 Create your own signature/Logo D. Lossy
35 Red Alert Software E. Lossless
3.6 Utility to compress data and archive files F. PKZIP
3.7 Compression for JPEG G. Disk Defragmenter
3.8 Virus which does not require host to propagate H. User datagram
3.9 Virus set by time or by any logic on event L. Message-oriented
3.10 | TCP J. Provide error-checked delivery
K. Virus
L. Security algorithm for wireless
networks
M. Logo designer
4, Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.
Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with
the question paper, following instructions therein. (1x10)
A. Dynamic B. | reliable C. |16
D. 32 E. | Scan Disk F. Router
G. | Transport H. | Application . MAC
J. last K. | first L. Nero
M. Network Layer
4.1 The of TCP/IP protocol is responsible for figuring out how to get data to its destination.
4.2 TCPis a(n) transport protocol.
4.3 address of a computer in unique and is used at data link layer.
4.4 is CD writing software.
4.5 TCP assigns a sequence number to each segment that is being sent. The sequence number for each
segment is number of the byte carried in that segment.
4.6 does the traffic directing functions on the internet.
4.7 UDP and TCP are both layer protocols.
4.8 is used for checking disk space.
4.9 A port address in TCP/IP is bits long.
4.10 The DLL extension stands for link library.
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AT €1 /| PART TWO

($% IR Y BT TR %f)/(Answer any FOUR questions)

5.

a) T3 T 9T T fohT e {8t &7

b) BIOS ¥e31q Ufehar &I Teuss Afcad ford.

c) = fdSrel NT I el Shdt FoteT fomar ST &

a) How does a router differ from a bridge?

b) Write standard settings of a BIOS setup
procedure.

C) How to create a new Windows NT user
account?

(5+5+5)

6.

a) fasraT NT AR Rived W Acafher FifcmR
a1 ot ufshar ford.

b) ex &7ar §? f&eT NT scasd & WeX & IR
et o1 fafey ford.

a) Write a procedure to configure networking on
Windows NT Operating System.

b) What is a printer? Write steps to share a
printer in Windows NT network.

(8+7)

7.

a) T f3F g18a 1 fathereifear T §2

b) YT AILH &1 872 31T IeTehl Ugdlel hdy ahiar
3R 3Rt THATCT HY HLAN?

c) drcdel &1 82 e A ofs ey W fswlee
e AT &Y 3TILTHRAT FAT 2

a) What is defragmenting a disk drive?

b) What are computer viruses? How do you
detect and eliminate them?

C) What are gateways? Why default gateway
setting is required on systems connected in
network?

(4+5+6)

8.

a) T Y 3R I 3T cheied & TR F fore?

b) ‘netstat’, ‘nslookup’ 3R ‘ping’ FAZH & FAT
FI 7

c) Windows XP # S&31q Uferar & f&¥cd ol ha
RER A E.

a) Write about straight through and cross over
cables?

b) What is the functionality of the commands
‘netstat’, ‘nslookup’ and ‘ping’?
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c)

How to Restore a System from Backup
Procedure in Windows XP?
(5+5+5)

Tt fafea & @ fredr der & diared 7 carear
&l

HTYT TREH

TCP giciliel

TR HIFedT

WAN

Explain briefly any three from the following:
Computer viruses

TCP protocol.

Antivirus software

WAN
(3x5)
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